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Note : (i)

Answer all the Sections.

Draw diagrams wherever necessary.

SECTION - A / Qo0 — &

Answer the following sub-questions. 10x1=10
3ENT WT-TI NN YZOR0.

1. (a)

(b)

(c)

(d)

(e)

(f)

(g)

(h)

(1)

()

Define Animal Behaviour.

TS WIFIODTY, WYATVIA.

Define Habituation.

DERVATI, WYATVIA.

What is meant by Stereotyped behaviour ?
%Je@o&raeé%w; JITBRYFON DT ?
What are Pheromones ?
FBReRReT, DOTTeR ?

Define Kinship.

diﬁowozﬁﬁ?& WVETDA.

What do you mean by imprinting ?
QOLOLOTTS OFPF R ?

Give an example of Altruism.
TTLSWBOZIN YVTOBTH JeR.
Define inclusive fitness.

QI BRAR® m%ﬁ BT, WYATVIR.
What is hormone ?

TOTWRE S DOTTE ?

What is motivation ?

FeTH QOTITED ?

AR TR RTATETR AR P.T.O.
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10.

11.

12.

SECTION - B / Qo0 —

Answer any four of the following questions.
FPNT O3RF)TRTTR SRS, @%ﬁ@ﬁ YOBOR.

Explain territoriality in monkeys.

BReSNYY TLIeSTIONTY, DTOR.

Briefly explain the Ivan Pavlov experiment with example.
NTHTTFROIR0ON Be0" DoBARBT FOIRENTD, FOFTION DBOX.

Give an account of the mate choice in peacock.

FROTY BomRIoD S0 B0 ITTH Aed.

Write a short note on male rivalry in red deer.
30y BoINYY TR 59@;@%3053 0B 3T LTS 22T,

Explain the types of dances in Honeybees for communication.

FesbRRrned TORTITN SHFHT FINY TRONIR, DO

Describe the stereotyped behaviour with example.

Xe00IRHTY. BEROSODT, LTBETFHIROOR 2TOR.

SECTION - C / Q%on — &

Answer any three of the following questions.

FINT CIPJYTRTSR FRTY TINON WSO

Explain Social organization in honeybees.

HePBRPNYY T[T FOFLNODNI), VTR,

Explain parental care in fishes.

BAYY BRETIT ST FoH, DO,

“Termites are social insects”. Justify.

"RTOTINLD TTIRT 83T TRHF R.

Explain Kinship theory with reference inclusive fitness.
Sl JetAlelw %c%oéwmol, YT BRAT PWFBR0ON wwgedr DB/OX.

Describe the biological rhythms.

z%e@s @oﬁod@ol NZOA.
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4x5=20

3x10=30



